60

=7-Tage-Durchschnitt == Monatsdurchschnitt

A 50
45

Q
Q
- 20
—
(qV]
N 15
& W
X
S 10
5
73,29, 79, 3, 7s, 2, 78, 03, 79, 05, 27, 96, <2, 08, ¢, 09, <5, 19, 96, 72, 2, 713, 29, 15, 97
"7 72 '07. '07. '03 .0‘2 .03. .04. .04. '05, .0‘5: '06: '06f .0. .o}. '08, .06: .oq .0_9. 70 5070 S 77 5777 272 010
?o,g 9079 ?090 ?020 ?030 ?oeo 2090 ?020 ?020 ?020 2020 ?020 2020 ?020 2020 ?020 2020 ?020 2020 ?020 9090 ?020 9020 2020 ?oeo
i . Quelle:
Erct & Kenftwhtechatt EPEX - Spotmarkt Phelix Base t
Energie for die Industrie Dezember 2019 — Dezember 2020 ) EIJEXSDO




